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CERTIFICATE IN WATER HARVESTING AND MANAGEMENT 
(CWHM) 

Term-End Examination 

December, 2019 

ONR-003 : WATER HARVESTING, CONSERVATION AND UTILIZATION 

Time : 3 hours 	 Maximum Marks : 75 

Note : 	(i) 	Attempt any five questions. 

(ii) All questions carry equal marks. 

(iii) Use of calculator is permitted. 

	

1. 	(a) What is in-situ water harvesting ? Describe any two in-situ water conservation 

techniques with diagram. 	 2+8=10 

(b) What is rain-water harvesting ? How it helps in improving the crop 

production ? 	 2+3=5 

	

2. 	(a) What are the different components of rooftop rain-water harvesting system ? 	5 

(b) How will you estimate size of storage tank for rural area based on water 	5 

requirement ? 

(c) Calculate the water availability from rooftop, if the annual average rainfall over 	5 

the roof area of 20 m 2  is 90 cm. The run-off coefficient of roof may be taken 

as 0.75. 

	

3. 	(a) What is percolation tank ? Enumerate the characteristic of percolation tank. 3+4=7 

(b) Define Water conveyance efficiency and Water application efficiency. Calculate 
water conveyance efficiency if the discharge of 120 litres per second from source 
was released and 72 litres per second was delivered to the field. 	 4+4=8 

Discuss surface and sprinkler methods of irrigation. 

What are the advantages of sprinkler irrigation ? 

6 

2 

(c) A farmer has to apply 8 cm of irrigation to 10 ha. area. He has 40 cows and 	7 
20 buffaloes. Calculate the gross storage capacity of a water storage pond. 
Assuming water requirement of cows and buffaloes are 70 and 60 litre per day, 
respectively. 
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5. 	(a) List different methods of artificial ground-water recharge. Explain ground-water 
recharge through percolation tank with diagram. 	 4+4=8 

(b) Describe the method for lining the pond with Agrifilm with the help of schematic 	7 
diagram. 

	

6. 	(a) Describe, how will you estimate the available run-off from the roof catchment. 	5 

(b) Describe clay blanket and bentonite treatment for control of seepage loss. 	5 

(c) Discuss the water harvesting practices used in central semi-arid zone. 	 5 

7. 	Write short notes on any five of the following : 

(a) Run-off Coefficient 

(b) Cropping Intensity 

(c) Earth Fill Dam 

(d) Spillway 

(e) Water Harvesting Potential 

(1) 	Recharge Shaft 

(g) Bench Terrace 

5x3=15 

Describe the filtration process for water purification. 	 8 

Briefly discuss purification of water for drinking. 	 7 
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2. (a) 	a W-\1M 	-srurrolrain u« 	? 	 5 

(b) 3-TftiR 	UlLituf 	r;■-) 	̀if- TTT4 2.11 t 33WR (TIT) cbi 	 rim  Fch ,:t 	5 

emit 3 ? 
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5. 	(a) TN1:1 1̀1 .  T-1 1*1 chi fdfil-  rcIW 	si 	 :cf) TETWi 

c'--IR9qf 3T1- 1 	 4+4=8 

(b) 	4 ,-71-11*6 ckUf chi t--IV-Idf tr 	TrItT cII(114 	3-1- 7R1TE m1 rare 	 I 	7 

	

6. 	(a) 	.U-Ulc1U Ur?:‘-1-51 tf 	,5-1(1 .4-gq c quilr 	 qufa- 	 5 

(b) fiTirq  	AkE 3 	 34 -,41t '111 qui-ff -41-4 I 	 5 

(c) 0<-4 ,11( 14 rrl era cikvil Art  	fdr319 fqr%It chl -c4 -cIl 

I 

7. 	F-1--IR-116ci 	'# 	 -q7 	 : 

(a) UTIc 

(b) 	 

(c) -1=F1 -{4 

(d) fP:17 

(e) \AM 	 

(f)  

(g)  

5x3=15 

8. 	(a) 	Aci 	ti:6,1->tul chi 	 -1-f-A7 I 	 8 

(b) 	AM 	kff,q4)(ut cb1 Tk) -cr r4-qf -1-f-A7 I 	 7 
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